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U9 1) YT IATERUIIE UHUT aYETEd @iefiel fae=iaT faeR &=1 9 arg gy fAast
31) ATATERUI W8 78 Tes FHIU ARG IR 3MTE.
) ATATRVIT TR AT R FHT0T 0.9 T FA 31TR.
LI
1) IR, @R 2) IR, @ 3) A 4) qrgrEe
Read carefully following sentences about environment of earth and find out the
appropriate answer
A) The percentage of Nitrogen gas in earth surrounding is 78%

B) The percentage of argon gas in surrounding of earth is 0.9%
1) Atrue Bfalse 2) BtrueAfalse 3) both are true 4) both are false

U¥2) Weliadd! BV IR YT ST AIdERvT GORAd of @oiiaiast giveRe

IRAAT ?
1) ARSI SIINTHRITSS 2) HEA SATFATSS
3) T AHTFATSS 4) R ad

Which harmful gases arise due to burning of fuel ?
1) Nitrogen dioxide 2) Carbondioxide 3) Carbon monoxide 4)all of the above

U 3) T BV fIaw NS HRET fIaw FEU[H SITHRT WISRT el STl ?

1) 16 A< 2) 16 3faciar 3) 16 AgaR 4) 157

Which of the following day celebrate as a Ozone protection day ?

1) 16 September 2)16 October 3) 16 November 4)1 June
U 4) Sf3AT ARSI f3urdie WRAT PIvredT auf IATI HRUAT T ?

1) 1875 2) 1930 3) 1948 4) 1890

India Metrological Department established inindiain.....

1) 1875 2) 1930 3) 1948 4) 1890
UH5) U I fohaT ag ATATRATST Wiefter Jeh! HIUTcAT Tehial AgHRT STaedd ! ?

1) YepIeT 2) gRdetad

3) FET S-S 4) T ad

Which of the following factors plays vital role in photosynthesis reaction?

1) Light 2) Green pigments 3)Carbondioxide 4)all ofthe above
T4 6)  ETeiier 4ol DIV Wotla agueia ATE ?

37) Irfar 9) REfIRm &) Jeein

8) TR SRILCRIE) ) ehiaT

1) b 31 3Mfor g 2) IgAMS 3) 31, ganfirsd 4) s, 33MorH

Which of the following living organisms are multicellular

A) Amoeba B) Paramecium C) Euglena
D) Cockroach E) Snail F) Onion
1) onlyAand B 2)onlyA,BandD 3)onlyA,B,C 3)OnlyD,EandF

(02-16) W@H T TR A AT ISATA TR..... TR T I IRAATT o raTer qui BT ard Sgd g ATer.



T8 7) 1993 a1 af AERIETi AR Riegiciier wrore f3aoft sfiyor syda e gar 2
1) a8 2) fhggnt 3) Yot 4) ATt TR
In 1993 in Maharashtra Latur district which place affected under earthquake?
1) Karad 2) Killari 3) Bhuj 4) None of the above
UH8)  NTHIY ATURN FTRUT T aRATI UTIRIHRUT AT TATIAT HroTeaT Iuf FArett ?
1) 1993 2) 2002 3) 2005 4) 2009
The national disaster management authority was established in which year?
1) 1993 2) 2002 3) 2005 4) 2009
U¥9) TER FhIAT SR FGAABRIET HEHT AT S IR UYH SUAR FgUH T Tehiel @iefterdeht
HIUIA 3iYY 2T ?
1) Paracetamol  2) Sorbitol 3) Norflox 4) Ty AT
If anyone is suffered from heart attack what will be the first preventive medicine?
1) Paracetamol 2) Sorbitol 3) Norflox 4) none of the above
% 10) TRATET WU TSTITe SWAT fIeft SIAa ©Te §aTd HURR 7 BT 6RS a1gg waiaR groaren
f3hdre T FgoTAT ?
1) dg=A 2) HeeraH 3) IR 4) fasxor
If we provide heat to any solid substance without convert into liquid and directly
transferred to gas phase such process is knownas......
1) Condensation  2) Sublimation 3) Gasification 4) Cooling
UM 11) Qoo fAg™ arn g Irg ugig Fast
31) ERTT HTSTY A1 18p ST §T8iier T 29T Bl
9) I1 ATST™ AIfHhdl A1g Hevera brasilinesis 319 318,
) WRATT HS AT AT G-I HA eI Icu=T fesa.
1) o, IR I H @R 2) 31 FH ER- @I
3) 3,9, Flgi=R 4) ¥, 9, & fagraEe
Read the following sentences carefully and select proper option for answer
A) A Brazil country have large extent of rubber tree
B) The botanical name of rubber is Hevera brasilinesis
C) Inindia Kerala produces large amount of rubber
1) A,Btrue and C false 2) Aand C true, B false
3) Allaretrue 4) All are false
UH12) IS AT AT ITATTH fhelt Bt Srolt SIS ol ?
1) 39 EOIR A IS &R 2) 3YSNII d I ESIR
3) TERTSN A TSI 4) 3 IR A I §OIR
The number of required calories for adolcenceiis .....
1) 2000 to 2500 2)1800-2000 3)1500-1800 4) 2500-3000

(03-16) SiegT Tt WEl & ATSHITH T gl rat I SATATT ¥ T, - 1. TSN, steger dem



UH13)

@leileTieh! DIvTc STiavI<d qTogTe faReesd ATl ?
31) Sfta=Ica 31 9) Shiawa s F) SHaaaa &
g) Sliadca 3) Sl 3 %) Siaad &

1) 4,5, 8 2) A,9,3,% 3) 5,3, % 4) A, %,3,P
which of the following vitamins are not soluble in water?

A)vitamin A B) vitamin D C)vitaminC

D) vitamin B E)VitaminE F)vitamin K

1) OnlyA,C,D 2)OnlyA,B,EandF 3)OnlyD,E,F 4)OnlyA,F,Eand K

g9 14)

A BT TSR PIUIAT ST HHARAHD Bl ?

1)§ 1 2)d 12 3) 4) &
Beriberi disease occurs because indeficiency of which vitamin ?
1) B1 2) B12 3) D 4) K

UH15)

&1 —faRurr=T (X ray) ener vl draer ?

1) William Rontgen 2) George Shaw  3)Isaac Newton 4) Steve Jobs
Who discovered X-rays ?
1) William Rontgen 2) George Shaw  3)Isaac Newton 4) Steve Jobs

U 16) A Hact 7Y THUT fahell g1S ST ?
1) 22 2) 24 3) 8 4) 11
How many bones in human skull ?
1) 22 2) 24 3) 8 4) 11
UH17) AFE SRR Fatd id AfOT ASTgd §18 DIV ?
1) qISRI g8 2) UTSHE B 3) PRI TS 4) Iy ATgt
Which is the longest and strongest bone in human body ?
1) Femur 2) backbone 3) Hipjoint 4) None of the above
U 18) Wielterddh! SreTiTcii SSTENUI HIVIT ?
1) TS 2) SIS 3) g@r 4) AIH
Which of the following is the example of Oscillatory motion ?
1) watch 2) Swing 3) Fan 4) Bicycle
U 19)  SATHIAT SSUMAT YT Teit HIvTe 3 ?
1) QT 2) Faaerfore it 3) Irgfeses mit 4) yRaer= et
What is the type of motion of flying kite in sky ?
1) Oscillatory motion 2) Periodic motion
3) Random motion 4) circular motion

(04-16) WidleR TciedT gaften widl gevardt Wit T HRU rer HidaR fAeaRT T MU TETeR f3ear .



g4 20)

ATl T | R1efa e o ?
1) faft 2) Hfiex ufar Aeve 3) ge 4) 3R
Which of the following is the unit of Speed ?

1) kilometers 2) meter per second
3) Newton 4) mpere

uH21)

Tel=aT faeg BRI HRUMAT TATAT PIVI gl FgUTATd ?
1) T¥urEd 2) To@meNUTdd  3) JifAd aa 4) Y&
Which of the following force act against motion ?

1) Frictional force 2) Gravitational force
3) Mechanical force 4) Muscularforce

% 22)

1) ot 2) e 3) ewhl 4) |aT
The capacity of an object to dowork s called.....?
1) Energy. 2) Force 3) Power 4) Momentum

uY 23)

ARae, IRfRRT &) Piurcar Srord! TN IS0 TR ?
1) SSOTAT Solt 2) UHI9N St 3) INAIMS Holl  4) ATCTURIA Svoit

Solar cell, solar lamps are the applications of the....... Energy of sun ?
1) Heatenergy 2) Lightenergy 3) Chemical energy 4) Tidal energy

Y 24) @R SR HO 01 AT ...... =t fAfef g,

1) &g+ 2) ISrEr 3) T 4) I AT

The vibration of an object is necessary for production of ...

1) Sound 2) Heat 3) Pressure 4) Nine ofthe above
UY 25) Wreitel A8 arem g a9 g3ty fRasr-

37) &a=1 1T TARUITATS! HTedHTe ! 3T 9gehaT 3T
) TBIATAT TARUINATS! ATEIHT ! I ehdT AvAd
1) 31, gIB W 2) I, gIgI@e  3)IWIE@ 4) TR, I @I

Ve Read the following sentences carefully and find out proper answer -

a) Medium is necessary for propagation of sound

B) Medium is not necessary for propagation of light

1) A,Bbothright 2)A,Bbothwrong 2)Aright,Bwrong 4) Bright,Awrong
% 26) SN fAs R’ wvrcan Rasft AreRT et St

1) 28 Hgart 2) 289 3) 15 ARt 4) 15 3ffqeraR

National science day celebrate on the day ...

1) 28 February. 2) 28 March 3) 15 January 4) 15October

(05-16) ufget 791 FBTTR WY T THT HRU GHAT TAIT SR YL 3Tl T TYUY S Fg0ier i Ufget A9 Haaes AR fAomer are.



gy 27)

HRATIA Addl aTRaA Y fAesfavm= ufgean sersme g |im
1) < mor 2) SAEIAgaN  3) dheTAIAGOE  4) TEATT Hel

Who was the first Indian Nobel Prize winner scientist?
1) C.V.Raman 2) Jagdish ChandraBose
3) Venkatraman Ramakrishnan 4) Meghnath Saha

UY 28)

YIBTT S I YaTTed HIvrd g7 AR 3R 2
1) Tg¥urge 2) YT g 3) ufdeyurga 4) D g

Which force exist between same pole of magnet ?
1) Frictional force 2) Attraction force 3) Repulsive force 4) Chemical force

g4 29)

SR YT ISt GBIl S Jahsard fAHmTel 31for o 29 s IreT TAdh! N gds dal aX
gaprdl faett qX T JATaeITer fiesdter ?
1) 08 2)12 3) 06 4) 14

If we cut magnet into two sections and again divided into two section then we get
how many poles of magnet?

1)8 2)12 3)6 4)14
U 30) YD AgH! PIUIAT I 22N FRR T8 ?
1) SWR-gf&or 2) ga-ufid 3) M AH™ 4) 3o aRIT
Magnet always stable in two direction ?
1) North -South 2) East-West
3) North west- south East 4) South west-North East
Y 31) AU gt HIUrAT BTN STfRTeTe 31 ?
1) wigTfdset 2) wterfast 3) PrERY 4) BRI
Our earth located in which galaxy ?
1) Mandakini 2) Saudamini 3) Kaveri 4) Kanchan Ganga
% 32) NASAZ MRS 3iaRTe HAT YUl A1d BT 317 ?

1) National Aeronautics and Space Administration
2) National Agency for Space Application

3) National uthority for Space Assembly

4) National Agency for Space research Analysis
What is the full form of NASA?

1) NationalAeronautics and Space Administration
2) National Agency for Space Application

3) National Authority for Space Aassembly

4) National Agency for Space research Analysis

gy 33)

THI IT HIRGA I 7RIS WA IATYT DIvredT a7 SATed] ?
1) 1969 2) 1971 3) 1948 4) 1952

(06-16) =TS Iy FHeftEr o A ATEY. Fer 7 3ifom LT Mg TR UYLT g1 HY HY JUIRT SUYBT 37TE.



ISRO established in which year?

1) 1969 2) 1971 3) 1948 4)1952
% 34) TR (ISRO) IT HRTH SIeRTS HLNYH WA U TG FHIY AT ?

1) Indian Space research agency 2)Indian spaceresearch analysis

3) Indian space review organisation 4) Indian space research organisation

What is the full form of ISRO?

1) Indian Space research agency 2)Indian spaceresearch analysis

3) Indian space review organisation 4) Indian space research organisation
Uy 35) YATeAT AATd STacaT Ig BIVET ?

1) 4P 2) TS 3)qu 4) §I%

whichis the closest planetto the sun ?

1) Mercury 2) Jupiter 3) Venus 4) Mars
U 36) INTAT WIRATId T AaTd I MTIOT SATd Yaid HITe6 UGTeR 3T, T A1d h ?

1) JfferoH=a  2) 9 9rhed 3) T & 4) Iy ATet

The longest and highest mountain of our solar system is on Mars planet, what is

the name of that mountain?

1) Olympus mons 2) Mars mountain 3) Storm stone 4) None of the above
u% 37) wolarar uRfRuchef Szqe avarean ufthde H1 o ?

1) 3 qge 2) uferer 3) \ARISH 4) AT TR

By which process living organism adjust themselves with environment ?

1) Adaptation 2) Addrelation 3) Adjustment 4) None of the above
u% 38) "World Frog Protection Day" e} ATSRT Pl STl ?

1) 29 ufie 2) 229 3) 6 acER 4) 23 AR

"World Frog Protection Day" celebrated on which date ?

1) 29 April 2) 22" March 3) 6 October 4)23" January
% 39) TRGH ST STHRA JeAT UNRIRTEAT BT FEUIAT 7

1) &5%he 2) Oar 3) @R 4) A

The ratio of mass and volume is known as...

1) Area 2) Density 3) Acceleration 4) Momentum
u% 40) ueTfEh =Yl s o ?

1) wATEHT 2) qT% 3) g& 4) 3rgiss

which s the fourth phase of substance ?

1) Plasma 2)Vapour 3)Fog 4) Android

(07-16) @Te UTEUMAT fordehe fiwe T Tae SRUM! g faetel 3w, - 1. TS, 3rege He



U 41) Tl AR Hafd SR YHT0T HIVTCaT R 3R ?
1) gageH 2) 3ifdAeT 3) A™SeH 4) PIETSH ITRISS
Which of the following gas consider in maximum percentage in Air?
1) Hydrogen 2) Oxygen 3) Nitrogen 4) Carbon dioxide
U 42) [T SHI A AIRY HIVT TR ?
1) &. fIr= 2) TR, ITUTHST 3) dt. 7rarE 4) 3IRfAS AR
Who is the Chairman of ISRO ?
1) K. Sivan 2) R.RadhaKrishnan
3) P. Mathai 4) Arvind Saxena
U4 43) UE g fobar wrvre srazarett fAmfed g ?
1) st 2) &7 3) SR 4) e
Digestion process related to which part of body ?
1) Kidney 2) Heart 3) Stomach 4) Urinary bladder
u% 44) RIS gk SATATET ARy faet s ?
1) 6 Y& SR 2) 8 Ul ST 3) 618 4) 6.5 &I HHY
What s the pH of acidic soil ?
1) More than 6 2)Lessthan8 3)6to8 4) Less than 6.5
U 45) TR} e HEITET YT A< ?
1) gRaead 2) usfigar 3) HepIeT 4) 9=
Heterotropic plants lack....
1) Greenpigment 2) Cellmembrane 3)Light 4) Leaves
TN 46) AT 1= fa Peft AToRT HeT ST 2
1) 129 2) 284g 3) 4 3T 4) 16 il
World food Day celebrated on which date ?
1) 12 January 2) 28 November 3) 4 August 4) 16 October
UH 47) TUTHERTS 31 efepres Rrpvarardt v ugref araRard ?
1) f@R 2) GTUgTET |AYST 3) BB 4) e |d
Which substance used as preservative in kitchen ?
1) Vinegar 2) Soda 3) Phosphorus 4) All of the above
U 48) U ST FERITAT ... TEUTAT ?
1) ao= 2) IRMEN 3) wEOr 4) et
The content of substance is known as...
1) Weight 2) Mass 3) Ratio 4) Motion

(08-16) frT & e Sitamra @44 ffacdt snfor & wTelt Fi+T SISUIRT ga oM. - SF. T.H.S1. sregel Faid



Y 49) IR MKS Ugel THR Uhds B 31T ?
1) Ada 2) faretums 3) AfRT3 4) Hiex
What is the unit of distance in MKS system ?
1) Second 2) Kilogram 3) Celsius 4) Metre
U 50) FXAHA XY 31Tt ASRAE 37 I I BT BIS MR ?
1) arfdFest 2) 9R«T 3) aifda 4) &
International Bureau of weightis located at...
1) Paris 2) Washington 3) New York 4) London
U 51) eaHIHl o PIUTT Tahehle AISTAT ?
1) &= 2) S¥faet 3) e 4) Fea
Sound level measured interms of .....
1) Heartz 2) Decibel 3) Torque 4) Candela
Y 52) Wiciierdeh HIvIH qeuctt Wl Widher fABRIER Siyer Fgue qrouRard ?

1) == 2) ITY® 3) sTgeaT 4) 9
Which of the following plant useful as amedicine in cough and cold ?
1) Termarind 2) Babhul 3) Adulsa 4) Bel

UH 53)

HRAT S gfgelt 9t fIgR 9o Y 1974 9L Wigelt Telt, T dafafaia A1 w1 ?

1) ARSI 2) AR |ARar 3) WTR 9HIE 4) 9FR fasrar
India's first oil well was drilled in 1974 at Mumbai, what is the name of that well ?
1) sagar kanya 2) sagar sarita 3) sagar samrat 4) sagar vijeta

T4 54)

3foeges diot e wrdt spivrar ueref amoRard ?
1) afRaw 2) U1 3) Aifsam 4) ATHR

Which of the following radioactive element used in production of nuclear
energy?
1) Thorium 2) Pottasium 3) Sodium 4) Sulphur

g4 55)

2013 ALY WA gy AT ... T ATATHT HRAR JREBR AT HRUIT 3T MR,
1) g aISadR 2) ANA drpIsdR 3) SIH T IE 4) ST TRSIPR

Which of the following scientist awarded as Bharat Ratna in 2014 along with
Sachin Tendulkar?

1) Raghunath Mashelkar 2) Anil Kakodkar
3)U.R.Rao 4) Jayant Narlikar

UH 56) UTUITT UL WR el 3t ?
1) 18 2) 35 3)11 4)22.4

(09-16) 3/ 3T fRrepIdt B S R Qg 3ATRd, T STRTLAT IR I JeAT WEIaR IS aRciiet. — BT, 3Heqel P



What is the Molecular weight of water?
1)18 2)35 3)11 4)22.4

Uy 57) SR IR 9 SivR ?

1) Nacl 2)HCL 3)KCL 4)Na
Chemical formula of saltis...
1) Nacl 2)HCL 3)KCL 4) Na

% 58) foIqaiia BT HIVI T 3R ?

1) AT A 2) EIQIFARIG IR 3) AURID AT 4) ATILID
Which of the folloiwng acid contain in Lemon groups fruits?

1) Citric Acid 2) Hydrochloric Acid

3) Sulphuric Acid 4) Nitric Acid

U9 59) HIIHIFIFS AT U~ e AXATIDH DIvT e ?

1) g Silest 2) faet fdies 3) et iew 4) AT FHRET
Who is the founder of Microsoft?
1) Steve Jobs 2) Bill Clinton 3) Bill Gates 4) Mark Zuckerberg

e 60) 1 fheilarde wgurs fhelt arsew?

1) 124 2) 1124 3) 1024 4) 1005
One Kilobyte is equal to how bytes?
1)124 2)1124 3)1024 4)1005

TN 61) TS & SAOIR HioredT RAToEs g ?

1) Human immunodeficiency Syndrome 2) Human acquired deficiency virus
3) Human immunodeficiency virus 4) Human immunodeficiency vitamin
Aids disease causes due to...

1) Human immunodeficiency Syndrome 2) Human acquired deficiency virus

3) Human immunodeficiency virus 4) Human immunodeficiency vitamin
N 62) T FT TSR PHIVIT SRS gl ?

1) vfew gfomt 2) TG 3) fasett ARG 4) Ty AT

Dengue disease causes due to which mosquito ?

1) Edies egypti 2) Culax

3) Kili Markis 4) None of the above

UM 63) BCG El ¥ IVl ITSTRIIS! f3eft Sl ?

1) &R—IRAT 2) Prdtes 3) BleRT 4) TAPISS
BCG vaccine is used to prevent.....
1) Tuberculosis 2) Hepatitis 3)Cholera 4) Typhoid

(10-16) IRIST TEHATH Heh ATAIITS! 1. BIET AN el ST g FATeiel AT, - 31, TR, 3reged ™



U4 64)

UHAGIEd HIvrATE! Jerhlg arasiear Aediardl snfor wumEnfier Arfavarrdt sivran
qREE $HHIeh AR b ATHTET?
1) 100 2)111 3)108 4) 105

In any Health emergency and for calling Ambulance which helpline number can
helpyou?

1)100 2)111 3)108 4)105
U 65) SR IR a7 weft 3Ry ?

1) 1294 2) 7 bgart 3)7 o 4) 28 AR

Which of the following day celebrate as a World health day ?

1)12 January 2) 7 February 3) 7 April 4) 28 November
UY 66) FA Ufgel STEALT BIVT &I ?

1) & g 2) 3TR THTHST 3)si.fasprartuE  4) dHurg

Who is President of ISRO ?

1) KSivan 2) RRadhakrushanan

3) P Chidambaram 4) P Mathai
UN67) SI.UHS helTd JiedT ATCHARAT A1d BRI ITE ?

1) yaferd 79 2) HIRT 2020 3) aifidg 4) AT

What is the name of Autobiography book of Dr. APJ Kalam ?

1) IGNITED MINDS 2)INDIA 2020

3) WINGS OF FIRE 4) TRANSCENDENCE
U 68) WRA STABILT AISAAT U SUIE BIVIAT ?

1) amdwg 2) TNMYE 3) 3T 4) I TS

What is the name of first satellite of India?

1) Aarybhatt 2) Gagabhatt 3) Apsara 4) None of the above
UH 69) IV hgahTd DIV HUT FHAT ?

1) Wer | 2) =g 3) gifergi= 4) I AT

Which particles are not presentin nucleus of an atom ?

1) Proton 2) Neutron 3) Positron 4) None of the above
UH70) SR TRATI BIS 31T ?

1) 3rEHSETE 2) 4ag 3) =g 4) dTgH

ISRO's headquarter located at.......

1) Ahemdabad 2) Mumbai 3) Chennai 4) Bengluru
UH71) WA SR ARSI IedT JTCHARFT A1d B 3Tg ?

1) SraepTemef} STee A 2) IR RIS |78t Ay
3) ware ug ar=ish 4) e

(11-16) SR T 9% IRATG BT TR I eI aRATG PReA. IS HUIE PUTAIST Aiad TG, - ST T.H.SN. sreqer oA



What is the name of an Autobiography book of Astrophysicist Jayant Naralikar ?
1) Avakashashi Jadale naate

2) My Tale in four cities

3) communication with planets and stars

4) Discovery

gg72)

YR 3cRTS BRIHHTD STch PIvT ?
1) fape ARTYTE 2) I ATl 3) ST |dler e 4) s1.vdS e

Who is father of Indian space program ?
1) Vikram Sarabhai 2) Kalpana Chawala
3) Dr.Satish Dhawan 4) Dr. APJ Kalam

g1 73)

YRAT Ufgel 3TaRTOAR DIvT 3TEd ?
1) ST.EH ynaT 2) TpT ATRAT 3) reher 9T 4) YT ATl

Who is the first indian to travel in space?
1) Dr.Homi Bhabha 2) Rakesh Maria 3) Rakesh Sharma 4)KalpanaChawala

% 74)

Shivavetest (GSLV) st S ?

1) Geosynchronous satellite launch vehicle
2) Geofriendly satellite leading vehicle

3) Geographical safe launch vehicle

4) Geostationary launch vehicle

Whatis GSLV ?

1) Geosynchronous satellite launch vehicle
2) Geofriendly satellite leading vehicle

3) Geographical safe launch vehicle

4) Geostationary launch vehicle

UH75)

T s R Pivrea fRasht wroRT et Srat
1)28 thgart 2)28 ure 3)15 STERT 4)15 3ffaerar

National science day celebrate on the day ...
1) 28 February 2) 28 March 3) 15 January 4)15 October

gY 76)

- \ﬁ \fg AN \% g 3]1_%?
1) $qe 2) 3THeye 3) 3[Use 4) Irihy AT

Keyboard of computeris.................. device.
1) input 2) output 3) update 4) None of the above

qq 77)

YIBTT G T YaTTed BV gt ARITT A ?
1) gy ge 2) ATHYUT g 3) ufyur ga 4) IS g

Which force exist between same poles of magnet ?
1) Frictionalforce 2)Attractionforce 3)Repulsionforce 4)Chemicalforce

(12-16) <IH TP HEM 0T 3N S ATIAME Bofaul IR Mg, — ST LS. 3regel Herm



U 78) 2019 IT IV Aidet TRV HIVIAT YR G2AT=T eh el fosTet ?
1) 3T git 2) 3wt |+ 3) ey weareff 4) g1 TR
Who win the Nobel prize award in 2019 ?
1) Abhijeet Banerji 2) Amartya Sen
3) Kailas Satyarthi 4) Ravindranath Tagore
U 79) UefeTERI S v U ?
1) jiqd g1 2)jiaé go 3) fraimret qTfa=t  4) wRapa
Who is father of cytology?
1) Robert Wadera 2) Robert Hook
3) Leonardo Da Vinci 4) SirCrab
UH 80) SMacARUIieT Ypur A qerged faselt ?
1) 86 2) 118 3)27 4)100
How many Natural elements in Periodic table?
1) 86 2)118 3)27 4)100
Ted 81) 2N 3ihl WEATAT UIMHR 765 3N STIO1 =T FH1fd 3 3N, TR AT ¥l ...,
1) 155 2) 255 3) 355 4) 555
The product of two digit number is 765 & their H.C.F. is 3, then theirL.C.M.is ........
1) 155 2) 255 3) 355 4) 555
U9 82) TahT AT a15] 4 .5, ST, it URIAT T ARSI TR ..o TR,
1)4 2)0 3)1 4) 2
A square having side 4 cm, difference between their area & perimeteris.............
1)4 2)0 3)1 4)2

79 83)

TP SIS arhral T 1.4 H, sRiear 2.2 s .am yam quf s—varardt @ araren
fahelt T IR ATl ?

1) 100 2) 200 3) 500 4) 300

The wheel of bullock cart has a diameter of 1.4 m. How may rotation will the wheel
complete as the cart travels 2.2 km.

1)100 2)200 3) 500 4)300
L T i . (R e SRSt 9 3T
1) AR 2) ieg 3) 4) fawm
Sumoftwo......ccccceeeeeeeet number is zero.
1) same 2) opposite 3) even 4) odd
799 85) I HiaTSerd! fhHd 16,000 . IRTCATT 31T 1.3 AaTSel @R HRUARITS! faheil U ITTeftet ?

1) 1,04,000 2)1,00,400 3)1,00,040 4)1,01,040

(13-16) L= ARG MG YUATATS! el aroreft gior Ror 3RAel. - T, TS, gt e



Two mobile of cost ¥16,000. How muck money will be required tow buy 12 such
mobiles?

72 86) 2%+5% =7?
1 2 2 1
1)5 2) 3 3) 5 4) 5
U9 87) Ueh TSI Uehl AT 60 b, Y. =T UaTy st 3Ty ot IS aregf arare fasel) vard kel ?
1) 60 f&.5t. 2) 30 f&b. . 3) 90 f&s.t. 4) 40 ..
If acartravels 60 k.m.inan hour,ittravels inhalfanhour.................. .
1) 60 k.m. 2) 30 k.m. 3)90 k.m. 4) 40 k.m.
797 88) 180° USTHISTPIT .. 3.
1) W& B 2) AgPH 3) ufdema HA 4) I P

Angle greaterthan180°is ..........cccccecrerrennes .
1) Straight Angle  2) Acute Angle 3) Rolar Angle 4) Zero Angle

79T 89)

1700 TYITER 2 ITATST 340 . TST AT STHA AR ATATATER wvveeeeeeeeeennn, 3.
1) 5% 2)10% 3)15% 4) 20%

If the intrest on 1700 rupees is 340 repees for 2 years, the rate of interest must
o] - .

1) 5% 2)10% 3)15% 4)20%
799 90) 7§ = e,
5
1) 7.006 2)7.06 3)7.6 4) 70.6

799 91)

2 1
Swati planted potato in 5 part of garden, 3 part by green vegetables and in

remaining part planted by Brinjal. So how many part of garden planted by
Brinjal?

1 4 1 3
1) — 2) — 3) - 4) —
) 15 )15 ) 8 ) 8
U9 92) TahT ATt qRIAt @idl 100 #Ht. Mg g 1= Het 80 HY. I7g. TR T IR gRfAc
................ . 3mg.
1) 360 2) 370 3) 260 4) 250
Length of rectangular park is 100 m. while it's width is 80 m. then it's perimeter is
...................... m.
1) 360 2)370 3) 260 4) 250

(14-16) HRATTE SRRIST ST STl AY THUTT el BT §AT § ITIHH Mg, - 1. UL, fged B



929 93)

A9 31 AT 25 ATSAT 10,000 HUATHT @R BedT g WY ATSAT A 460 FUATT
Teh 1 IR fAhed] oR I FagRId AfA9Ter fhelt A%T gige ?

1) 1400 2) 1500 3) 1600 4)T1700

Manisha brought 25 saris from a wholesale merchant for ¥10,000 and sold them
all at 460 each. How much profit did Manisha get in this transaction?

1) %1400 2)%1500 3)%1600 4)%1700

79 94)

SR Gl gaTehre fohwd 53,670 WU 3Tg, TR 3191 35 gaTehia! febwe fabeit ?
1) 9989000 2) 17,78,450 3) 18,78,400 4) 18,90,450

If a certain two wheeler cost 54,670 rupees, how much will 35 such two-wheelers
cost?

1) 99,89,000 2)17,78,450 3)18,78,400 4)18,90,450
U9 95) Wald At <7 37l T wafd AISt AR 3ihT FEITAT OMBR ...
1) 99,89,999 2) 99,89,009 3) 99,89,001 4) 99,99,001
Product of bigest three digit no. and bigest four digit no. is ....................
1) 99,89,999 2)99,89,009 3)99,89,001 4)99,99,001
72T 96) AIIS TR HRUITITS! IS dhahgd WU 35,250 T.91.5.91. 6 S UehT JuHATS! Ot ok

TCTT Y 31ER b fohelt U TS AT TR ?

Raju wanted to make a pond in his field. He borrowed ¥ 35,250 from a bank at an
interest rate of 6 p.c.p.a. How much interest will he have to pay to bank at the end
ofyear?

1)% 2100 2)T 1400 3)T 2115 4)T 1415

797 97)

31fa g aRfdg I S Ieh™ 2100 g 2800 HUY HISI HTeT AT TT, HeAl. T 3500
R BTAGT FATeT, Al FHTUI T aTeTT ?

Ashwin and Arvind invested 2100 and 2800 rupees respectively and started a
business. They made a profit of 3500 rupees. How should it be shared?

1)1000, 2500 2)1500,2000 3) 2000, 15000 4)500,3000
U9 98) WAld T d |ald TS WaT 3ieh! TITH RIS . )

.................... is the sum of smallest and largest size digit number.

1) 9,99,999 2)10,99,999 3)99,10,100 4)10,10,999
997 99) {[(2+3)x2]+(4-2)} x4

1) 20 2)16 3)-20 4)-16
U99100) 1 100 TR ..o TS o5 HEAT ST,

Paris of twin prime no.s between1t0100..................... .
1)8 2)9 3)10 4)1

(15-16) YETER HH B Haw eI AdRTe A8 T AR e gga. - 1. TS, srga dam



N&BEL

Scientific Summer Camp

MISSION 2020 ~gese

April-2020 Last Week - 3 days
Guidance from Enpents of Science & “leclinology

Emphasis on :

ISRO SCientitS 1) How to prepare for ISRO

Entrance Exam?

"T As irants ) IIT Entrance prepartion from 8th
Guidance by P std. o
Career EXpertS 3) How to select career?

4) Careers in Science stream.

AUthOI’S 5) How to study for school level

competitive examinations.

Register your name @ 9423 44 2053 7218 50 1444
SIGIT UTetel AR year

Course
NOBEL 11

FOUNDATION scIE“cE

PhysicsIChemistryl Maths | Biology

CBSE & State Board

1" Expert's Batch
from 15th April & 1st May

Vishal Patil (Director)
Near IMR College, Khwajamiya-Highway Road, Jalgaon.
Contact : 94234 42053, 72185 01444

www.nobelfoundation.co.in

n nobelfoundationjalgaon
(16-16) a1 et Aen v weer 3 &, Mool Ugeh™ AT AT, Tl FRUGTE JIT T, ST TRelT Tfel: 7l SR M 9T oot TG,
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